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B.E./B.TECH. DEGREE EXAMINATIONS, NOV/DEC—2011
REGULATIONS 2008
FIRST SEMESTER
HS 11 - TECHNICAL ENGLISH I

CIVIL ENGINEERING

(Common to Al B.E/B Tech)

Time: Three Hours s . Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. Match the words in Column A with their meanings in

Column B: : N (4x1/2=2)
A s
\ (@) jargon ~ @ objective
() ;Qui\libxjum ~ (i) attribute
«© target } (m) state of being balanced
(d) ascribe  ° (iv) highly technical expressions

2. Expand the following compound nouns 80 as to bring out
their meanings: (4x%=2)
(a) Steel chair
(b) Butt weld

(¢} Power cable
(d) Nickel Alloy

3.  Define the following terms in a single sentence: (2 1=2)




[image: image2.png](a) Thermostat (b) Ammeter

Use suitable prefixes to find the opposites of the following
words: (4x%=2)
(i) relevant

(ii) social
(iii) appropriate

(iv) locate

Rewrite as directed: (2x1=2)

(@) Tt is expensive to modernize sick mills. (Use the
gerund form)

(b) He does not like wasting time. (Use the infinitive form)
Change the following sentences into-impersonal passive
voice: (2x1=2)
a. Welders normally prefer a v-shaped weld.

b. We call these support bearings.

Complete the given conditional statements suitably:

(@x1=2)
(a) If he ran all the way, he (get) there in time.
(b) If the weather is good, I (go) for a walk.

Fill in the blanks with suitable prepositions:  (4x%=2)

a. She drove the car a speed of 80 miles an
hour.
b. He was not prepared to act his principles.

¢. The factory has been closed two years.
d. India should not depend imported technology.
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11.

Edit the following passage: 2)

In the coming dicades road transport has face serius
problems. The dencity of automobile trafic in the sities
will being so high, that the roads will hardly be able to
accommodated them.

Complete the following séntences using an appropriate
clause: . 2x1=2)

ES It the weather had been fine,

b. If you remove g{his fuse,

PART-B (5%16=80 marks)

Read the following passage and.answer the questions that
follow1t: N .

The 20&" contury -has witnessed a great scientific
revolution, Its magnitude is very much greater than the
Industrial Revolution or the Biological Revolution
witnessed-upte the gnd of the 19* century. In the fields of
physical and natural sciences, and engineering and
technology there have been tremendous developments in
the 20 century. In the 20% century great strides have
taken place in the fields of atomic and space research.
The old theory or indivisibility of atom was exploded.
That the atom could be split has been demonstrated. This
has led to great developments. On the one hand, there
has been the making of atom weapons. On the other hand,
atomic energy has been put to constructive purposes. A
number of atomic power stations have been constructed.
Atomic energy has been used to drive ships. Efforts are
also on to make it feasible to use atomic energy in
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[image: image4.png]automobiles. Space research has developed in leaps and
bounds. The moon has been brought nearer the earth.
Rockets and space-crafts have been launched into the
space in an effort to get data about the other-solar
planets. Speculations are on for building interstellar
spacecrafts.

There have been significant developments in the fields
of communication and electronics. Wireless and satellite
communication system have brought societies and nations
very close. Within an instant the message could reach
across thousands of mils. The electronic media has
become a boon to the society from the points of view of
education and entertairirnent.

The progress in the field of chemistry has resulted in
proliferation of all kinds of industries. Especially of use to
the human society .is the contribution of chemistry to
agriculture. The production of fertilizers and pesticides
has the way for more production of food items. The
subject of etallurgy has become a major developing
science. Further, the most significant developments of
this field of science is that it has become interdisciplinary
in nature, The application of chemistry to the medical
and biological study is noteworthy.

Similarly, rapid development has been noticed in
natural sciences also. Besides the new methods of
producing and ‘using fertilizers and pesticides, new
scientific methods of raising and managing crops have
come up. The development in genetic research has grown
so much that new insights have been obtained in the
study of various systems in living organisms. More and
more increased bio products for consumption have come
into existence.  Genetic engineering is now at the
threshold of bringing about another significant revolution
in lifestyle. The study of plants and animals in relation to
the environment is developing into another major useful
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The great development in engineering and technology
has resulted in the invention of numerous machines that
make life easy for human beings. Revolution in the
transport system, especially the introduction of the
supersonic aviation has made world a global village.
Besides the household gadgets, the robots are being
introduced not only for domestic purposes. That is, more
efficient work at the least possible time is now being
promised. The introduction of computing machines has
revolutionized all aspects of hfe From the medical to the
academic world, the computérs have become the most
reliable factor in the *d.lagnasxs and interpretation of
diseases and problems.

All the great, developments in the physical sciences,
natural sciences and engineering and technology have
contributed to a more comfortable life. Efficiency in work
is almost ensured. Saving of human energy from
drudg: has been achiéved. - In short a magnificent
revolztll?),n has taken placé in human life because of
sclentlﬁc deveiopmeuts in the 20t century.

(a) Choose the‘régponse which best reflects the
meaning of the text: (5x1=5)

@ The word ‘this’ in the 1% paragraph

a) Newton’s theory

b) The theory that atom cannot be split
¢) The fact that atom can be split

d) Atomic research.

@) The progress in the field of chemistry has
helped in
a) The development of many types of
industries
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b) The progress of space research
©) The innovations in communications field
d) The increase of computers

The introduction of the supersonic aviatios
has made

a) Life easier for every one
b) Our world a bigger one

¢) Our world a smaller one
d) Our world a healthy one

The word "this’ in the third paragraph refers
to B

a) The field of natural science

b) The field of electronics

¢} The field of metallurgy

d) The feld of genenc engineering

~The development% in genetic research have
provlded

a) New. dimensions in the study of living
organisms

b) New outlook to science

©) New names to living organisms

d) New life to living organisms.

State whether the following statements are ‘true’ or

‘false’:
@

(i)

(iit)

(6x1=6)

Industrial revolution took place in the 20t
century.

Rockets and Space-crafts have been used for
travel.

Societies have become closer because of
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System.

(iv) Science has become interdisciplinary in
nature.

)  Genetic engineering can never bring another
revolution in life style

(vi) Medical diagriosis has become more reliable
because of computers.

(¢ Choose the most éppropriate synonyms which
conveys the p:eanfng of the word from the context of
the text: g : L (5%1=8)
) Magnitude .

(a) Importance . (b)size (¢) quality  (d) development
(i) Constructive

(@) Coﬁstructibn (b) useful  (© critical ~ (d) simple
(i) -Proliferation v

(a) develc;pment (b) production © to (d) to get
N o increase in doubled in
number number

@) Threshold
(a)beaten {b)-doorway (©) building (d) starting
track point
(v)  Promised
(a) assured  (b) given (c) spoken (d) taken
12. @ @ Read the following passage and make notes

from it. Use the correct format of note-
making. 8

In most places around the globe plastic bags
are a big environmental worry. ~Many
animals — mnot just pets, but also some

(s
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[image: image8.png]animals like squirrels, rats, birds and stray
animals  foraging for food in our
neighbourhood end up eating lightweight
plastic garbage. Apart from causing terrible
pain due to internal blocks, plastic has
compounds  which can damage the
reproductive organs and also retard their
ability to resist disease. In the food chain,
these compounds are also passed on to the
predators.

Grazing cattle eat plastic waste like light
weight plastic cups. Sometimes stray dogs
put theirheads into the small plastic bags
with leftover food in the garbage and their
heads get stuck in them, leading to
suffocation.and death. Plastic ropes and
threads used for tying parcles are also
extremely  dangerous — they can cause
thanglemexit, especially among birds.

_ When lightweight plastics ends up in our
waterways, marine life, which includes fish,
sea animals and water birds, feeds in the

“rivers and seas and ends up as victims. A
finé transparent plastic bag filled with water
and debris looks a lot like a jellyfish, the
favourite food of sea turtles. The
Mediterranean association to save sea turtles
(MEDASET) speaks of one sea turtle, which
had ingested 50 such bags.

Having realised the seriousness of the
issue, the Irish Government decided to do
something about it. They imposed tax on
using plastic bags. The practice has caught
on in villages, towns and cities throughout
Ireland. In just 17 months, there has been a
stunning drop in the use of the killer bags

8 z




[image: image9.png]that choked the country’s narrow lanes, quiet
rivers and winding highways. The Irish
Environment Department says shoppers used
around 1.2 billion plastic bags per year before
the tax was imposed in March 2002. Since
then, the use has dropped by around 95 per
cent. What the Government collects through
the sale of bags goes for recycling
programmes. Plastic bags now form only 0.3
percent of the total garbage collected. It was
five percent before the tax. It took 12 years
of campaigning’ to persuade the Irish
Government to impose the levy.

In Australia, the government is looking
into|the Irish system to reduce plastic bags
litter by 75 percent. Bangladesh wants to
ban plastic bags from the capital Dhaka. A
year ago, thh Africa made it illegal for

-..shops ‘to of flimsy plastic shopping bags,

sarcastically called the “national flower”

because they are found all around the

country.  Shopkeepers in South African

.towns offer the more ecologically friendly
polypropylene bags or thicker plastic bags
that are economical to recycle.

In India, there is plastic garbage
everywhere, even near temples and historic
monuments. The reasons for this menace are
the same world over. Explosive economic
growth is followed by an increase in
consumption, garbage and illegal landfills.
But that still does not explain why people
simply throw the plastic bags on the road
knowing very well it will choke everything in
sight.
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Make notes for the passage given under
question no. 11. ®)

Write a paragraph of about 200 words
comparing the life in a village with that in a
city. ®

Or
Do you think ‘that the introduction of
computers in  induatries will lead to

unemployment? Express your ideas in a
paragraph of about 200 words. 8)

Write a letter to Lucas TVS, Chennai asking
for practical training. Assume yourself as a

__student of Mechanical Engineering. 8)

Or

Write a letter to the Minister of Human
Résources inviting him to inaugurate an

_intérnational conference on  computer

applications in your college. Imagine that
you are the Secretary of the computer
Association of your college. 8)

Assume yourself to be the Chairman of a
Social Welfare Association. You are appalled
by the television programmes, where various
channels show programmes replete with
violence. Write a letter to the Editor of a
newspaper, expressing your concern over the
impact of these programmes on young

children. )

C
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(i)

().

Or

Write a letter to the Editor of ‘The New
Indian Express’, suggesting measures to the
problem of frequent accidents in your area.(8)

Convert the following passage into a flow
chart: ®

Silver occursin ores of several metals. The
froth process of extracting silver accounts for
about 75 percent of ail silver recovered. Here
the ore is gsaund to a powder, placed in large
vats containing water suspensions of frothing
agentsand thoroughiy agitated by jets of air.
Depending on the agents:. used, either the
silver-bearing ore or the gang adhering to the
bubbles of the froth is skimmed off and
washed. The final refining is done using

~electrélysis. Repregent this by means of a
_flow chart.
N

Or

Qonx;ert the following table into a continuous

paragraph: ®

2006 | 2007 2008 2009 2010

Hydroelectric

2165 | 26.26 | 26.76 | 29.50 | 30.94

Nuclear

2.22 2,72 272 272 2.77

Geothermal/
Solar/Wind/Biomass | 1.27 151 1.74 1.87 3.81

Thermal

59.64 | 74.55 76.65 77.97 | 80.90
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*Components may not add to total due to rounding.
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(i)

Write a set of 8 instructions to be followed by
the students to maintain laptops in good
condition. [¢)]

Or
Rearrange the following sentences in
sequence: N 8)
G) But for this ~ preheating mechanism,
starting the diesel eng:iné will be sufficient.
(ii) Therefore, diesel engies are heavier than

petrol engines.

- (i) The diesel éngine is an increasingly

- popular engine in automobiles.

(iv) Finally, diesel engines are noted for their
noisé, vibration, and smoke.

(v)-However, plugs are available to preheat
théengine.

(vi) But, it has its own disadvantages.

(vii) Another disadvantage is that diesel
engines are difficult to start in cold weather.
(viii) For one, the higher compression that

makes the diesel more efficient necessitates
the use of heavier engine components.
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bromotes education Or entertainment or both., (16)

Or

te an ©ssay on India as g developed nation with

urces, power and technology.
ragraphs of 100 words

(16)
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